
Outdoor Rocking Poly
Adirondack Chair

DESIGNED IN CALIFORNIA



THANK YOU!

Sign up here:
 

JOIN THE WESTINTRENDS COMMUNITY

QUESTIONS OR COMMENTS?

PRODUCT REGISTRATION

FOLLOW, SHARE, & LEARN

ACCESSIBILITY - COMMUNITY - VALUE - SUSTAINABILITY



CARE & MAINTENANCE

TOOLS  REQUIRED

HARDWARE

Page 1 of 4

330 LBS
ALLEN WRENCH 

(PROVIDED)
WRENCH

(PROVIDED)

1

4 PCS

2

2 PCS

3

8 PCS

4

2 PCS

5

2 PCS

7

8 PCS

6

4 PCS

8

8 PCS

PARTS

A

1 PC

b

1 PC

C

1 PC



Page 2 of 4

PRODUCT ASSEMBLY - OVERALL VIEW

PARTS

D

1 PC

E

1 PC

F

1 PC

g

1 PC

h

1 PC

i

1 PC

I

A

B

H

C
D

E
F

G



Page 3 of 4

PRODUCT ASSEMBLY

1
Part E Right Chair Leg to Part A Chair Seat with 3 pcs of Hardware #3 Bolt

Hardware #8 M6 Washer Hardware #7 M6 Nut
 

 to Part A Chair Seat

3

3
F

3

6

FF

A

E

87

2 Part C Right Chair Arm to Part E Right Chair Leg with 1 pc of Hardware #3 Bolt
Hardware #8 M6 Washer Hardware #7 M6 Nut

 to 

2

C C
D

E

E
F

3

8
7

3 3
8 7



PRODUCT ASSEMBLY

3

Page 4 of 4

4

Put Part B Chair Backrest into Part A Chair Seat Hardware
#4 Bolt Part B Chair Backrest to Part C Right Chair Arm with 1 pc of Hardware
#2 Bolt
 

Part B Backrest to 

Part G Back Rail to Part A Chair Seat with 2 pcs of Hardware #5 Bolt

2

4

5

2

4

5

B C

G

4

2

5

Part H Right Rocking Feet to Part E Right Chair Leg with 2 pcs of Hardware
#1 Screw Part H Right Rocking Feet to Part A Chair Seat Rear Leg with
2 pcs of Hardware #6 Screw
 

 to Part A Chair
Seat Rear Leg

A

B

H
I 1

6 6
1

1



REGISTRATION & REFUND POLICY

HAVING TROUBLE

CLEANING TIPS

REGULAR CLEAN:

QUICK CLEAN: 

DO NOT exceed 1500 PSI  - this will remove any debris and dirt.

• Not sure how to assemble or missing pieces? 

 

Have Order #, Part # or SKU ready to speed up customer service!


